
'' >' USES OV THE TABLES.
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interfsfar6y%™„„teri'r "^ 5!'o°'i'»^i"g '9 years and 2 months to run. and bearing

ByXable I, present *alue of $i, due 230 months hence, at 5%=. 38808 x 100
And by Table IV, present value of ha'f-yearly instalments of $1 for sametime— 25. 141 X 3 (value of half-yearly covpon^= • . • .

$38,808

' V. The present value of the Debenture is $114,231

ner aljf/^^r""' "^

l'"" ^^ *"'' ^"^^^ °' Debenture may be calculated to pay the purcha-

wUl bi^stn St "?
P";«=»'"=^*! -"""^y. notwuhstanding the rate of the security being different. It

l«s than fu ki
purchase, gets a h.gher rate than that b.,me by the security, he will pay

ifthe ra.i .^r^ . '';.*"'L'^
^^

'^'''"^f
\'°*'^^ •"*'•= •"= *^"' P''/ ^'^"^ 'han the face value

oh.-in/h T ^ "^"^ Mortgage or Debenture be the same as that which the purchaserobtams, he wll pay for ,t the par value. This m.y be shown by .he tables as in the above cas«!

l,.„i„^^*"
'''''

^rl.^'''"'
'* the present value of a Debenture of $100 due 18 years hencehaving coupons of $8 each payable yearly, to pay 8% yearly?

^
"

And by TableV, p. v. of yeariy instalments of $1 for same lime=9.37i9 x 8= 7J.975

The present value of the Debenture is $100,000

months.
^° ^"^ ^^^ *""""' ^° ***'"*' ^"^ *"*" "^""'"^ accumulate after a given number of

reauiS'^^'Th^n?"; ^^.
"'f. T'^u"'

^'''"^ °^^' '^''^ ''' ^^^ «^"d "^ '^'^ '"">. ""d at the mterequired. 1 he quotient will be the amount.

amoumr Is yeTr?an"d'j montht?
*'°°' "°" """•=' *' '°^° '""="' compounded half-yearly,

answM
^"'''^ ^' '''* P""^^*"' ^^'"« of $'. due 223 months hence = . 16310 .-. -2^= $613. 12,

For any even number of half-years or years up to 50 respectively, Table VII eives theamount of $., and this factor multiplied by the given^um'will gl^e its amount for samf^riod

4. To find the present value of ^ny Instalment or Annuity, payable yearlv hatf-veariv

Ton h^
'^ 7 monthly, during a given number of years, or a broken^riod TyVaVs and som^months, at any rate of interest given.

'

Find the present value of an Instalment of $1 for the proper time and rate in the Tablecorresponding to the periodic payment, and muhiply this factor Cy the given Insralment

A r^.^^u^,^^^
i.-A Mortgage payable by monthly instalments of $20 each, has 8 years and

4 months to run What is its present value, interest 10%, convertible half-yeariy ? ^

20=$f,36t2VanIw'er^''''*'"' ' "" '"^'''''"'="' °f $' f^'
i°° months at .o%=$68.,64x

.
^^^.^1,'^.*"''"'''

^T^ft
*^°"g^e. payable by quarteriy instalments of $25 each, has 8 yeirs andI ™o"th .0 ^u„ What IS Its present value, interest 9%, and convertible half-yearlyBy I able III, the present value of a quarterly instalment for 8 years and I month lie 11instalments, first due one month hence), at 9% =$23-545 x 25 = $588. 6 "answer.

^^

to n.n^^"'".';'' ^T^ Lease, payable by half-yearly rents of $60 each, has 7 years and^ months"

it ro%!ron'vLrible y^;'?
'^" '""^ '"'^'^ '""""'^ •*•=""'• ^'^^^ '^ ''^ P^-' value.^nteres?

at i^Iyl:S;2${^)\r:ZV£l$;^^^^^^^^
"'^•^'"^'^"' °^ $ f- 7 years and 3 months

Example 4.—A Mortgage, payable by yeariy annuities of $210, has l? years and 1

By Table V, (he present value of 16 yearly instalments of $1, last instalnient due Lmonths hence, at 9}i%, annually=.$8 6301 x 2io=$,,8i2.j2i. answer
'"''*'"'*^"' '"«' '^3

5%. c^omp"unde<t~^lyV '^ ''^ P"""' ^^'"^ ''^ "^ ^-^^-^ «' «'°° P"—
•
^"^ 62 years, at

f..95;^I,1nsv^."'^-P'
'''"'' "''"" of lLJ^L»g»'^foL62 years, at 5%=jii9.Qa8a^ioo^


